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TTT-18.84em- -7 [Sem

® 150.76cm? @141.3cm3 ® 132.66cm?

@ 130.88cm? ® 114.08cm?

HH2] 2)= 18.84 + 3.14 + 2 = 3(cm)
o] Bu])= 3% 3x3.14 X 5 = 141.3(cm?)
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@) #9771 31.4cm ©|1, 017k 3em 9 D715

D 2x2x3.14x2=2512(cm?)

@ 3x3x%x3.14x 3 =84.78(cm?)

® 6x6x6=216(cm?)

@ 3 2429 ZolE [ |em 2t 51
|:|x|:|x6:54,|:’x|:’:9,|:’:3

e Bols 3% 3x 3 = 27(cm?) YU Th

® ¥ o] 1tz E0] 31.4 =+ 3.14 + 2 = 5(cm)

o|BZ RHul=5x5x3.14 x 3 = 235.5(cm®) JYtt.
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4x4x314x[ |=351.68
50.24 x| | =351.68
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@75 Fulo] vhg 5k gyt
8% 8x3.14 x 13 + 2 = 1306.24( cm?)
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ol 5ol A 7127 Qe 150 48 W m e Ui o,
4Tl WA SHE40] 20 %S derY T 47F 849 25%

@ 4027+ @)105 11 ® 1101t
@ 3501+ ® 2707+

AH 74z 22 [ Jotel 2o ahw
[ ]x0.2=84(mt])

[ ]=84+02

[ ]=420(wt2)

AR 7H=0] 4= ¢ 42071
25

Z0] ubg] 2= ;4920 x 100~ 105( 7Ha])
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FYUr}. A4 Zo)7t 10em ¢ w2z g 18 u AFgo] AR5k
29 dol= 2 cm 1A FSHA L.

H o] 24
A R B < I I P S I 1 = |
A
A a(E) | 16 | 32 | 12 | 20 | 80
B2 2 (%)
ol cm

10ecm = 100mm °|BE2 1% =S 1 mm = YERHTH

2
A WMEE (%) Z—O X100 = 40 % °]|2 2

40mm = 4 cm ©|T},
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360° X — =60.48°
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(10%) (10%)

9914

CRE!
(25%)

(25%)

[4=o]d] H] [Z4=] "
> o

> = d

> &g 4uy g

> &He: 30d

P 5} o . 25

A B #1014 1 600 x £ =150 (B)

4] S 912040 ¢ 480 x o = 120 (2)

= g0 A2 FsHE 150 - 120 = 30 (P)

et o]y who] 30 A o Bk,




19. o2 AM=o] E99] Zol= 187.84cm JU Tt o] AL THEo]
A= H7]159 AEolE T L.

cCh "
[ — I}

>
> "e

571.48 cm?

~&B

O] Y1F)= (187.84 - 6 x 2) + 4 = 43.96(cm)
HF2]5)= 43.96 + 3.14 + 2 = 7(cm)
O]) =7x7x3.14x2+43.96 X6

= 307.72 + 263.76 = 571.48(cm?)
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20. 1cm2E dst= 9 2mL7F EE E40] 95Ut o]l B4 S
A7 RS dot= d) 2% 2 mL7F AR

>
> ®Eh: 150.72mL

B ,

(27159 BYol) =2x2x3.14x2+4x3.14x 4
=25.12 + 50.24
= 75.36( cm?)

kA A EE B2 75.36 x 2 = 150.72( mL) YT
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(B&RA ] Ba)— (A7]50) B
12x 12 x 15 — (6 % 6 x 3.14 X 15)
= 2160 — 1695.6 = 464.4( cm?)
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10 x 10 X 3.14 x 5 = 1570( cm?)
Hnegs SHOE I A A9 F
5x5x3.14 x 10 = 785( cm?)

3744 Kmjo] 2}

1570 - 785 = 785( cm?)
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B

ol ANER T5oldl 97]59 EolE FoHA 2.

(GHO] 712) = (T Y] E9] do])
= (BHY #F) x3.14
(R 2] 2] =)= 314 + 3.14 = 100( cm)

(271%52] &Eo])= 314 — 100 — 100 = 114( cm)
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|
| 12cm
/:_ 1___ // 5¢ I/
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,/ ,12 cm \
10cend
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o}
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(AR o] o))
= (10x12) x2+ (10 + 12+ 10+ 12) x 12
= 240 + 528 = 768( cm?)

D715 o= [ Jem 2} 5t
(5x5x3)x2+10x3x[ |=768
150 + 30 x| =768

[ ]= (768 - 150) + 30 = 20.6( cm)
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T} Zo] BHe] whaEo] 20em, E017F 20em QY W75
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45°> 4N
20cm
@ @

> HE 16.4cm

S
L
1—

©\, OV
45° 45°
*20cm”

@2 BHolE T4,
@, ®<] ¥ol @ 20x20 x 3.14 + 8 = 157( cm?)
@2] ol @ 20 x 20 + 2 = 200(cm?)
= (157 x 2 + 200) x 20 = 10280( cm?)
(@] &°]) =(F1)+(BH°l)
= 10280 + (20 x 20 x 3.14 + 2)
= 10280 + 628
=16.36--- — 16.4( cm)




